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001. «ò‚¥kkf rË™ 2024™e …huz{kt „wshkŒ™e Íkt¾e (xuç÷ku){kt r™Y…ý nŒwt........

(A) ‚hnËeÞ «ðk‚™ …h Äkuhzku „k{™e ðirïf yku¤¾

(B) hk»xÙeÞ yufŒk {kxu fuðrzÞk rMÚkŒ MxuåÞq ykuV Þwr™xe

(C) ‚ktMf]rŒf «ðk‚™ …h …kxý™e hkýe™e ðkð ðirïf yku¤¾

(D) {eXk™k ‚íÞk„ún™wt Ëktze hk»xÙeÞ M{khf

002. I rð¼k„ (ƒtËhku)™u II (rsÕ÷k) ‚kÚku ÞkuøÞ heŒu òuzku.

 I  II

i. nShk ƒtËh a. ‚whŒ

ii. Œw™k ƒtËh b. fåA

iii. r‚¬k ƒtËh c. ò{™„h

iv. „ku…™kÚk ƒtËh d. ¼kð™„h
(A) i - c, ii - d, iii - a, iv - b (B) i - a, ii - b, iii - c, iv - d
(C) i - b, ii - c, iii - d, iv - a (D) i - d, ii - a, iii - b, iv - c

003. ¼khŒ{kt «Úk{ ¾k™„e ËrhÞkE ƒtËh fÞwt Au?

(A) {wLÿk ƒtËh (B) …e…kðkð ƒtËh

(C) ftz÷k ƒtËh (D) fku[e™ ƒtËh

004. ¼khŒeÞ ƒtÄkhý™e «MŒkð™k{kt ‘‚{ksðkË’ y™u ‘rƒ™‚kt«ËkrÞf’ þçËku fÞk ƒtÄkhýeÞ ‚wÄkhkÚke Ëk¾÷ fhðk{kt
ykÔÞk nŒk?

(A) 42{ku ƒtÄkhýeÞ ‚wÄkhku (B) 43{ku ƒtÄkhýeÞ ‚wÄkhku

(C) 44{ku ƒtÄkhýeÞ ‚wÄkhku (D) W…h™k{ktÚke yuf …ý ™rn

005. ¼khŒeÞ ƒtÄkhý {wsƒ ™e[u™k{ktÚke fE fE {q¤¼qŒ Vhòu Au?

i. ¼khŒeÞ ƒtÄkhý™u {k™ yk…ðwt

ii. Ëhuf™u fk{ …qÁt …kzðwt

iii. yk…ýe ‚rnÞkhe ‚tMf]rŒ™k ‚{]Ø ðkh‚k™u ò¤ððku

iv. hk»xÙæðs y™u hk»xÙ„eŒ™u {k™ yk…ðwt

(A) VõŒ i y™u iv (B) VõŒ ii y™u iv

(C) VõŒ ii, iii y™u iv (D) VõŒ i, iii y™u iv

006. I rð¼k„ (hk»xÙeÞ Wãk™ku-™uþ™÷ …kfo)™u II (rsÕ÷kyku) ‚kÚku òuzku.

 I  II

i. „eh hk»xÙeÞ Wãk™ (™uþ™÷ …kfo) a. Ëuð¼qr{ îkhfk

ii. fkr¤Þkh hk»xÙeÞ Wãk™ (™uþ™÷ …kfo)-ðu¤kðËh b. ¼kð™„h

iii. ðkt‚Ëk hk»xÙeÞ Wãk™ (™uþ™÷ …kfo) c. ™ð‚khe

iv. ËrhÞkE hk»xÙeÞ Wãk™ (™uþ™÷ …kfo) d. sw™k„Z
(A) i - c. ii - d, iii - a, iv - b (B) i - b. ii - a, iii - c, iv - d
(C) i - d. ii - b, iii - c, iv - a (D) i - a. ii - c, iii - b, iv - d
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001. In the Republic Day 2024 Parade, the Gujarat Tableau depicted _______

(A) Dhordo Village’s global identity on border tourism

(B) Statue of Unity situated at Kevadia for national integration

(C) Patan’s Rani Ki Vav global identity on culture tourism

(D) Dandi National Salt Satyagraha Memorial

002. Match I (Sea Ports) with II (District)

 I  II

i. Hazira Port a. Surat

ii. Tuna Port b. Kutch

iii. Sikka Port c. Jamnagar

iv. Gopnath Port d. Bhavnagar

(A) i - c, ii - d, iii - a, iv - b (B) i - a, ii - b, iii - c, iii - d

(C) i - b, ii - c, iii - d, iv - a (D) i - d, ii - a, iii - b, iv - c

003. Which is the first private seaport in India?

(A) Mundra port (B) Pipavav port

(C) Kandla port (D) Cochin port

004. Which constitutional amendment inserted ‘Socialist’ and ‘Secular’ words in the preamble of
the Constitution of India?

(A) 42nd Constitutional Amendment (B) 43rd Constitutional Amendment

(C) 44th Constitutional Amendment (D) None of the above

005. Which among the following are fundamental duties according to the Constitution of India?

i. To respect the Constitution of India

ii. To provide work for everyone

iii. To preserve the rich heritage of our composite culture

iv. To respect the National Flag and the National Anthem

(A) i and iv only (B) ii and iv only

(C) ii, iii and iv only (D) i, iii and iv only

006. Match I (National Parks) with II (Districts)

 I  II

i. Gir National Park a. Devbhumi Dwarka

ii. Blackbuck National Park, Velavadar b. Bhavnagar

iii. Vansda National Park c. Navsari

iv. Marine National Park d. Junagadh

(A) i - c, ii - d, iii - a, iv - b (B) i - b, ii - a, iii - c, iv - d

(C) i - d, ii - b, iii - c, iv - a (D) i - a, ii - c, iii - b, iv - d
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007. r„h™kh …ðoŒ …h ykðu÷ku rþ÷k÷u¾ ykþhu E.‚. …qðuo 250{kt „wshkŒ{kt fÞk ‚{úkx™wt ‚k{úkßÞ rðMŒhu÷wt nŒwt Œu™ku
…whkðku Au?

(A) ‚{úkx [tÿ„wÃík {kiÞo (B) „wÃík ‚{úkx ‚{wÿ„wÃík

(C) {w½÷ ‚{úkx yfƒh (D) {kiÞo ‚{úkx yþkuf

008. {nu‚kýk rsÕ÷k{kt ykðu÷wt {kuZuhk™wt ‚qÞo{trËh fE ™Ëe™k rf™khu ykðu÷wt Au?

(A) ™k„{Œe ™Ëe (B) …w»…kðŒe ™Ëe

(C) ™kÞhk ™Ëe (D) ykuÍŒ ™Ëe

009. zkt„ Ëhƒkh....

(A) nku¤e™k Œnuðkh ‚kÚku ‚w‚t„Œ rºk-rËð‚eÞ ðkr»kof ¼ÔÞkrŒ¼ÔÞ ‚ktMf]rŒf Wsðýe Au.

(B) nku¤e™e Wsðýe …Ae Sð™‚kÚke …‚tË fhðk™ku ykrËðk‚e Wí‚ð Au.

(C) fåA rsÕ÷k™k ¼[kW Œk÷wfk™ku ºký {rn™k ÷ktƒku Œnuðkh Au.

(D) W…h™k{ktÚke yuf …ý ™rn

010. ‚kƒh{Œe ™Ëe y™u ðkºkf ™Ëe™wt r{÷™ MÚk¤ ..........

(A) ‚t„{ (B) r‚h‚Úkk

(C) Ëuð«Þk„ (D) ðkiXk

011. ™e[u™k{ktÚke fÞw/fÞk rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. 1947{kt ¼khŒ™e MðŒtºkŒk ƒkË ‚kihk»xÙ y™u fåA r‚ðkÞ ‚{„ú „wshkŒ {wtƒE hkßÞ™ku ¼k„ ƒLÞwt.

II. 1 {u, 1960™k hkus {wtƒE hkßÞ™wt {nkhk»xÙ y™u „wshkŒ hkßÞ{kt rð¼ks™ fhðk{kt ykÔÞwt.

(A) VõŒ I ‚k[wt Au. (B) VõŒ II ‚k[wt Au.

(C) I y™u II ƒt™u ‚k[kt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.

012. ©e Œus‚ {Äw‚qË™ …xu÷™e fÞk ûkuºk{kt Wíf]c «Ëk™ ƒË÷ …È¼q»ký 2024 yuðkuzo {kxu …‚tË„e fhðk{kt ykðe?

(A) ònuh ‚uðkyku (B) ‚krníÞ

(C) Ëðk ({urzr‚™) (D) þk÷uÞ rþûký

013. ¼khŒ™k hk»xÙ…rŒ™e [qtxýe™e «r¢Þk...

(A) #ø÷uLz …ØrŒ «{kýu

(B) fu™uzk …ØrŒ «{kýu

(C) y{urhfk™e «{w¾ …ØrŒ «{kýu

(D) {kir÷f Au, ƒeswt fkuE ƒtÄkhý ‚{k™ «r¢Þk ÄhkðŒwt ™Úke.

014. ¼khŒ™k W…hk»xÙ…rŒ nkuÆk …hÚke Ëqh ÚkE þfu...

(A) hkßÞ‚¼k™ku Xhkð ‚¼k™k Œ{k{ ‚ÇÞku™e ƒnw{Œe îkhk …‚kh fhðk{kt ykÔÞku nkuÞ y™u ÷kuf‚¼k îkhk ‚t{Œ
ÚkÞku nkuÞ

(B) {nkr¼Þku„ «r¢Þk þY fhðk {kxu ‚kËe ƒnw{ŒeÚke hkßÞ‚¼k™ku Xhkð …‚kh fhðk{kt ykÔÞku nkuÞ

(C) hkßÞ‚¼k y™u ÷kuf‚¼k™ku ‚tÞwõŒ Xhkð ƒu-Œ]ŒeÞktþ ƒnw{ŒeÚke …‚kh ÚkÞku nkuÞ

(D) ƒu-Œ]ŒeÞktþ ƒnw{ŒeÚke ÷kuf‚¼k™ku Xhkð …‚kh ÚkÞku nkuÞ y™u ‚kËe ƒnw{Œe™k xufkÚke hkßÞ‚¼k{kt …‚kh
ÚkÞku nkuÞ
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007. The Rock Inscriptions in the Girnar Hills provides proof of which emperor extended his domain
up to Gujarat in about 250 BC?

(A) Emperor Chandragupta Maurya (B) Gupta Emperor Samudragupta

(C) Mughal emperor Akbar (D) Maurya Emperor Ashoka

008. Sun Temple at Modhera in Mehsana District situated on the banks of _______

(A) Nagmati river (B) Pushpavati river

(C) Nayra river (D) Ozat river

009. Dangs Darbar is _______

(A) A three-day annual cultural extravaganza coinciding with the Holi festivities

(B) Adivasi festival of choosing a life partner after Holi celebrations

(C) A three-month-long festival of Bhachau Taluka of Kachchh district

(D) None of the above

010. The place where Sabarmati River and Vatrak river meet is _______

(A) Sangam (B) Sirastha

(C) Devprayag (D) Vautha

011. Which of the following statement(s) is/are TRUE?

I. After the Indian Independence in 1947, all of Gujarat except Saurashtra and Kutchh became
part of Bombay State.

II. On May 1, 1960, the Bombay State was split into the States of Maharashtra and Gujarat.

(A) Only I is true (B) Only II is true

(C) Both I and II are true (D) Both I and II are not true

012. Shri Tejas Madhusudan Patel has been selected for the Padma Bhushan Award 2024 for his
outstanding contribution in the field of _______

(A) Public service (B) Literature

(C) Medicine (D) School Education

013. The process of election of the President of India is:

(A) Borrowed from England

(B) Borrowed from Canada

(C) Borrowed from the American Presidential system

(D) Original and no other Constitution contains a similar procedure

014. The Vice President of India may be removed from office by:

(A) A resolution of the Council of States passed by a majority of all the members of the Council
and agreed to by the House of the People.

(B) A resolution of the Rajya Sabha passed by a simple majority for initiating the impeachment
process.

(C) A joint resolution of the Rajya Sabha and Lok Sabha passed by a two-thirds majority.

(D) A resolution of the Lok Sabha passed by a two-thirds majority and seconded by a simple
majority in the Rajya Sabha.
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015. hkßÞ ònuh ‚uðk ykÞku„™ku ¾[o...

(A) ‚tƒtrÄŒ hkßÞ ‚hfkh™k ytËks…ºk{kt ð‚q÷ðk{kt ykðu Au.

(B) fuLÿ ‚hfkh™k ytËks…ºk{kt ð‚q÷ðk{kt ykðu Au.

(C) ¼khŒ™k yufef]Œ ¼tzku¤{ktÚke ð‚q÷ðk{kt ykðu Au.

(D) hkßÞ™k yufef]Œ ¼tzku¤{ktÚke ð‚q÷ðk{kt ykðu Au.

016. ¼khŒ™k ƒtÄkhý™k fÞk y™wåAuË{kt ÷kuf‚¼k{kt yuLø÷ku-ErLzÞ™ ‚{wËkÞ™k ƒu ‚ÇÞku™k ™k{ktf™ {kxu™e òu„ðkE™ku
WÕ÷u¾ Au?

(A) y™wåAuË (ykxeof÷) 328 (B) y™wåAuË (ykxeof÷) 329

(C) y™wåAuË (ykxeof÷) 330 (D) y™wåAuË (ykxeof÷) 331

017. ¼khŒ™k ƒtÄkhý™k y™wåAuË 333 nuX¤ hkßÞ™k hkßÞ…k÷ yuLø÷ku-ErLzÞ™ ‚{wËkÞ™k fux÷k MkÇÞ / ‚ÇÞku™u
Äkhk‚¼k (yu‚uBçk÷e){kt ™k{ktrfŒ fhe þfu Au ?

(A) {n¥k{ 5 (B) {n¥k{ 3

(C) {n¥k{ 2 (D) VõŒ 1

018. {q¤¼qŒ Vhòu™k ‚tË¼uo fÞwt ‚k[wt ™Úke?

(A) Œu hex îkhk ÷kËe þfkÞ Au.

(B) Œu ƒtÄkhýeÞ …ØrŒ îkhk «urhŒ fhe þfkÞ Au.

(C) Œu ™k„rhfku …h VhrsÞkŒ…ýu Au.

(D) ‚trËøÄ fkÞËkyku™k yÚko½x™ {kxu Œu™ku W…Þku„ fhe þfkÞ Au.

019. …t[kÞŒ y™u ™„h…kr÷fkyku{kt {rn÷kyku {kxu 1/3 ƒuXfku {kxu y™k{Œ™ku fÞku ƒtÄkhýeÞ ‚wÄkhku hsq fhðk{kt
ykÔÞku nŒku?

(A) 73{ku y™u 74{ku ‚wÄkhku, 1993 (B) 99{ku ‚wÄkhku yrÄr™Þ{, 2014

(C) 102{ku ‚wÄkhku yrÄr™Þ{, 2018 (D) 128{ku ‚wÄkhku yrÄr™Þ{, 2023

020. ¼khŒ™k ƒtÄkhý {wsƒ r{÷fŒ™ku yrÄfkh...

(A) {q¤¼qŒ ykrÄfkh Au. (B) ƒtÄkhýeÞ yrÄfkh Au.

(C) ™k„rhf yrÄfkh Au. (D) W…h™k{ktÚke yuf …ý ™rn

021. ™kýkt{tºke r™{o÷k r‚Œkhk{™u yíÞkh ‚wÄe{kt fux÷e ð¾Œ fuLÿeÞ ytËks…ºk hsq fÞwO?

(A) 4Úke ð¾Œ (B) 5{e ð¾Œ

(C) Aêe ð¾Œ (D) 7{e ð¾Œ

022. «ò‚¥kkf ¼khŒ™wt «Úk{ fuLÿeÞ ƒsux fÞk ð»ko{kt hsq fhðk{kt ykÔÞwt nŒwt?
(A) 1947 (B) 1948
(C) 1940 (D) 1950

023. ð[„k¤k™wt ytËks…ºk (RLxhe{ ƒsux) íÞkhu hsq fhðk{kt ykðu Au ßÞkhu...

(A) ™ðe ‚hfkh™wt „X™ ÚkÞwt nkuÞ

(B) ‚hfkh ykrÚkof yðhkuÄku™ku ‚k{™ku fhe hne nkuÞ

(C) [qtxýe™k ð»ko{kt …qýo ƒsux hsq ÚkÞwt Lk nkuÞ

(D) ™ðk ™kýkfeÞ ð»ko …nu÷kt xqtfk „k¤k {kxu hsq fhðk{kt ykðu
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015. The expenses of the State Public Service Commission shall be charged on:

(A) The budget of the concerned state government

(B) The budget of the Union Government

(C) Consolidated Fund of India

(D) Consolidated Fund of the State

016. Which article of the Constitution of India mentions the provision for the nomination of two
members of the Anglo-Indian community in the House of the People?

(A) Article 328 (B) Article 329

(C) Article 330 (D) Article 331

017. The Governor of a State, under article 333 of the Constitution of India, may nominate how
many member / members of the Anglo-Indian community to the Assembly?

(A) Maximum 5 (B) Minimum 3

(C) Maximum 2 (D) Only 1

018. Which is NOT correct regarding Fundamental Duties?

(A) They can be enforced by writs

(B) They can be promoted by constitutional methods

(C) They are obligatory on citizens

(D) They can be used for interpreting ambiguous statutes

019. Which Constitutional Amendment introduced reservation of one-third of seats for women in
panchayats and municipalities?

(A) The 73rd and 74th Amendments 1993 (B) The 99th Amendment Act, 2014

(C) The 102nd Amendment Act, 2018 (D) The 128th Amendment Act, 2023

020. The right to property under the Constitution of India is a:

(A) Fundamental right (B) Constitutional right

(C) Civil right (D) None of the above

021. For how many times, has Finance Minister Dr. Nirmala Sitharaman presented the Union Budget
so far?

(A) 4th time (B) 5th time

(C) 6th time (D) 7th time

022. In which year was the first Union Budget of the Republic of India presented?

(A) 1947 (B) 1948

(C) 1940 (D) 1950

023. The “Interim Budget” is presented when:

(A) A new government is formed

(B) The government is facing financial constraints

(C) A full budget is not presented during an election year

(D) The budget is presented for a short period before a new fiscal year
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024. ™e[u™k{ktÚke ¼khŒ™k …qýo ‚{Þ™k «Úk{ {rn÷k ™kýk{tºke yku¤¾kðku.

(A) ErLËhk„ktÄe (B) r™{o÷k ‚eŒkhk{™

(C) ‚w»{k Mðhks (D) M{]rŒ Ehk™e

025. ‚t‚Ë{kt fÞwt ƒtÄkhýeÞ ‚wÄkhk rƒ÷ Ëk¾÷ fhe™u „qzT‚ y™u ‚rðo‚ xuûk (GST)™ku y{÷ fhðk{kt ykÔÞku?

(A) 120 ƒtÄkhýeÞ ‚wÄkhk rƒ÷ 2016-17

(B) 121 ƒtÄkhýeÞ ‚wÄkhk rƒ÷ 2016-17

(C) 122 ƒtÄkhýeÞ ‚wÄkhk rƒ÷ 2017-18

(D) 123 ƒtÄkhýeÞ ‚wÄkhk rƒ÷ 2017-18

026. ™e[u™k{ktÚke ‚kiÚke ‚k{kLÞ heŒu ð…hkŒwt yÄoðknf (‚u{eftzfxh) fÞwt Au?

(A) r‚r÷fku™ (B) fkƒo™

(C) s{uor™Þ{ (D) ‚ÕVh

027. ¼khŒ fÞk ð»ko ‚wÄe{kt þqLÞ Wí‚so™ (™ux Íehku yu{e‚L‚) nkt‚÷ fhðk frxƒØ Au?

(A) 2030 (B) 2050

(C) 2070 (D) 2090

028. COP26 ø÷k‚„ku ¾kŒu ¼khŒu fÞk ðh‚ ‚wÄe{kt Œu™k Qòo ð…hkþ™u 50% ‚wÄe fkƒo™hrnŒ (zefkƒkuo™kRÍ) fhðk™e
ònuhkŒ fhe Au?

(A) 2030 (B) 2040

(C) 2050 (D) 2070

029. ðirïf sið #Äý ‚trÄ (ø÷kuƒ÷ ƒkÞkuVâwy÷ y÷kÞL‚) yu ¼khŒ™e yr„ú{Œkyku{kt™e yuf ònuhkŒ õÞkhu ÚkE?

(A) COP26 ø÷k‚„ku 2021 (B) COP29 ƒkfw 2024

(C) G20 Lkðe rËÕ÷e ‚r{x 2023 (D) 13{w rƒúõ‚ (BRICS) ‚r{x 2021

030. 30GW ðes Wí…kË™ fhðk {kxu Ëwr™Þk™ku ‚kiÚke {kuxku „úe™ yu™So …kfo õÞkt ƒtÄkE hnu÷ Au?

(A) ™qh yƒw Äkƒe, ÞwyuR (B) fåA™wt hý, ¼khŒ

(C) xu™ø„h™wt hý, [e™ (D) ƒu™ƒ™ ErsÃík

031. ™uþ™÷ …u{uLx fku…kuohuþ™ ykuV ErLzÞk îkhk 2016{kt fÞwt {kuƒkE÷ …u{uLx yu… rðf‚ðk{kt ykÔÞwt Au?

(A) ¼e{ (BHIM) (B) Vku™…u (PhonePe)

(C) …uxeyu{ (PAytm) (D) {kurƒ-õðef (MoBiKwik)

032. ™e[u™k{ktÚke fÞwt Ã÷uxVku{o rþ¾™khkyku {kxu yku™÷kE™ yÇÞk‚¢{ku ƒ™kððk y™u …nkU[kzðk {kxu™wt {VŒ y™u
¾wÕ÷wt Ã÷uxVku{o ²kkuŒ Au?

(A) fkuh‚uhk (B) {qz÷

(C) Þqzu{e (D) yuzuûk
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024. Identify the first full-time female Finance Minister of India to present the Union Budget.

(A) Indira Gandhi (B) Nirmala Sitharaman

(C) Sushma Swaraj (D) Smriti Irani

025. Which Constitutional Amendment Bill was introduced in the Parliament to implement the Goods
and Services Tax (GST)?

(A) 120 Constitutional Amendment Bill 2016-17

(B) 121 Constitutional Amendment Bill 2016-17

(C) 122 Constitutional Amendment Bill 2017-18

(D) 123 Constitutional Amendment Bill 2017-18

026. Which among the following is the most commonly used semiconductor?

(A) Silicon (B) Carbon

(C) Germanium (D) Sulphur

027. India is committed to achieve the Net Zero emissions target by _______.

(A) 2030 (B) 2050

(C) 2070 (D) 2090

028. At COP26 Glasgow, India has announced to decarbonize its energy consumption to 50%
by _______.

(A) 2030 (B) 2040

(C) 2050 (D) 2070

029. The Global Biofuel Alliance is one of India’s priorities announced during:

(A) COP26 Glasgow 2021 (B) COP29 Baku 2024

(C) G20 New Delhi Summit 2023 (D) 13th BRICS Summit 2021

030. The world’s largest green energy park to produce 30GW power is being built in _______

(A) Noor Abu Dhabi, UAE (B) Rann of Kutch, India

(C) Tengger Desert, China (D) Benban, Egypt

031. Which mobile payment aap has been developed by the National Payments Corporation of India
in 2016?

(A) BHIM (B) PhonePe

(C) Paytm (D) MobiKwik

032. Which among the following is a free and open-source platform for creating and delivering
online courses for learners?

(A) Coursera (B) Moodle

(C) Udemy (D) edX
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033. fÞku yrÄr™Þ{ ¼khŒ{kt E-fku{‚o «ð]r¥kyku™u ‚t[kr÷Œ fhŒk «kÚkr{f fkÞËk Œhefu ‚uðk yk…u Au?

(A) ELV{uoþ™ xuf™ku÷kuS yuõx, 2000

(B) ELV{uoþ™ xuf™ku÷kuS (‚wÄkhku) rƒ÷, 2006

(C) ELV{uoþ™ xuf™ku÷kuS yu{uLz{uLx (‚wÄkhku) YÕ‚, 2023

(D) RrLMxxâqx ykuV xuf™ku÷kuS yuõx, 1961

034. ¼khŒ{kt þiûkrýf xur÷rðÍ™ {kxu™wt ‚tÞwõŒ ‚kn‚ ‘¿kk™ Ëþo™ [u™÷’ (GD) {kxu™e {æÞðŒeo (™kuzu÷) yusL‚e fE Au?

(A) {k™ð ‚t‚kÄ™ rðfk‚ {tºkk÷Þ (MHRD)

(B) {krnŒe y™u «‚khý {tºkk÷Þ (I&B)

(C) «‚kh ¼khŒe (PB)

(D) RrLËhk „ktÄe ™uþ™÷ yku…™ Þwr™ðr‚oxe (IGNOU)

035. fu™-ƒuŒðk ™nuh òuzký (r÷Lf fu™k÷) fÞk hk»xÙeÞ Wãk™ (™uþ™÷ …kfo){ktÚke …‚kh ÚkkÞ Au ?

(A) …LLkk xkE„h rhÍðo (B) rs{ fkuƒuox hk»xÙeÞ Wãk™ (™uþ™÷ …kfo)

(C) ‚krhMfk xkE„h rhÍðo (D) …U[ hk»xÙeÞ Wãk™ (™uþ™÷ …kfo)

036. ¼khŒ fÞk ð»kuo ykur÷rBÃkf™e Þs{k™e {kxu çkku÷e (Bid) fhþu?

(A) 2030 (B) 2032

(C) 2034 (D) 2036

037. „„™Þk™ «fÕ… («kusuõx) ‚tƒtrÄŒ fÞwt /fÞkt rðÄk™ / rðÄkLkku ‚k[wt / Mkk[kt Au?

I. 3 rËð‚™k r{þ™ {kxu 3 ‚ÇÞku™k sqÚk™u 400 rf{e™e ¼ú{ýfûkk{kt {kuf÷e {k™ð yðfkþ Wzk™ ûk{Œk™wt «Ëþo™
y™u Œu{™u ‚whrûkŒ heŒu …]Úðe …h …kAk ÷kððk.

II. LVM3 hkufux yu „„™Þk™ r{þ™ {kxu «ûku…ý ðkn™ Œhefu ÃkMktË fhkÞwt Au.

(A) VõŒ I ‚k[wt Au. (B) VõŒ II ‚k[wt Au.

(C) I y™u II ƒt™u ‚k[kt Au. (D) I y™u II ƒt™u ¾kuxkt Au.

038. [tÿ …h [tÿÞk™-3™k WŒhký MÚk¤ (÷u®Lz„ ‚kRx)™wt ™k{:

(A) þrõŒ-MðY… (B) [ktËk{k{k

(C) rþð-þktrŒ (D) rþð-þrõŒ

039. ¼khŒ{kt fÞwt hkßÞ ykur÷rBÃkf …kfo ƒktÄðk™wt ykÞkus™ fhe hÌkwt Au?

(A) „wshkŒ (B) rËÕne

(C) {nkhk»xÙ (D) W¥kh«Ëuþ

040. ykufxkuƒh 2023{kt «Äk™{tºke îkhk ònuh fhðk{kt ykðu÷wt y{]Œfk¤ rðÍ™ 2047...

(A) ¼khŒeÞ yÚkoŒtºk™u 5 nòh yƒs (rxÙr÷Þ™) ƒ™ðk™wt ykÞkus™

(B) ®nË {nk‚k„h{kt {kAe{khe™k yÚkoŒtºk (RrLzÞ™ yku‚™ çÕÞw Efku™ku{e)™wt ykÞkus™

(C) ®nË «þktŒ yÚkoŒtºk (RLzku-…u‚urVf Efku™kur{f)™k ‚t„X™™wt ykÞkus™

(D) ¼khŒeÞ yÚkoŒtºk™u 10 nòh yƒs (rxÙr÷Þ™) ƒ™ðk™wt ykÞkus™
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033. Which act serves as the primary legislation governing e-commerce activities in India?

(A) Information Technology Act, 2000

(B) Information Technology (Amendment) Bill, 2006

(C) Information Technology Amendment Rules, 2023

(D) Institutes of Technology Act, 1961

034. Which is the nodal agency for the Gyan Darshan (GD) channel, the educational television joint
venture in India?

(A) Ministry of Human Resource Development (MHRD)

(B) Ministry of Information & Broadcasting (I&B Ministry)

(C) Prasar Bharati (PB)

(D) Indira Gandhi National Open University (IGNOU)

035. The Ken-Betwa link canal passes through which National Park?

(A) Panna Tiger Reserve (B) Jim Corbett National Park

(C) Sariska Tiger Reserve (D) Pench National Park

036. India will bid to host Olympics in which year?

(A) 2030 (B) 2032

(C) 2034 (D) 2036

037. Which statement(s) is / are TRUE regarding the Gaganyaan project?

I. Demonstration of human spaceflight capability by launching crew of 3 members to an orbit
of 400 km for a 3-day mission and bringing them back safely to Earth.

II. The LVM3 rocket is identified as the launch vehicle for the Gaganyaan mission.

(A) Only I is correct (B) Only II is correct

(C) Both I and II are correct (D) Both I and II are wrong

038. The landing site of Chandrayaan-3 on the Moon is named:

(A) Shakti-Swaroop (B) Chanda Mama

(C) Shiv-Shanti (D) Shiv Shakti

039. Which state plans to construct an Olympic Park in India?

(A) Gujarat (B) Delhi

(C) Maharashtra (D) Uttar Pradesh

040. The Amrit Kaal Vision 2047 announced by the Prime Minister in October 2023 is:

(A) A plan for making India a 5-trillion economy

(B) A plan for the Indian Ocean blue economy

(C) A plan for Indo-Pacific economic integration

(D) A plan for making India a 10-trillion economy
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041. ¼khŒ™e …t[k{]Œ «rŒ¿kk ‚tƒtrÄŒ :

(A) 5 rxÙr÷Þ™ yÚkoŒtºk™ku rðfk‚ (B) ™Ëeyku™k òuzký™ku «fÕ… (rhðh ÷ªfª„ «kusuõx)

(C) ykƒkunðk …rhðŒo™ ‚k{u ÷zkE (D) «kËurþf ‚thûký y™u ‚whûkk

042. ‘„kuz ykuV fuyku‚’...

(A) yu…kurV‚ yuMxhkuRz™ku yÇÞk‚ fhðk {kxu ™k‚k™wt r{þ™ su 2029{kt …]Úðe™e ™Sf nþu.

(B) ƒuLLkw yuMxhkuRz™ku yÇÞk‚ fhðk {kxu ™k‚k™wt r{þ™ su 2175 y™u 2195™e ðå[u …]Úðe™u yÚkzkðk™e ‚t¼kð™k Au.

(C) ™k‚k™wt yðfkþ{kt™wt ËqhËþof (M…u‚ ƒuÍTz xur÷Mfku…) su …]Úðe™k ðkŒkðhý™e ™Sf ykð™kh yuMxuhkuRzT‚™ku
yÇÞk‚ fhþu.

(D) W…h™k{ktÚke yuf …ý ™rn.

043. sw÷kE 2024{kt …kt[ {u[™e T20I r‚heÍ {kxu fÞku Ëuþ ¼khŒ™e Þs{k™e fhþu?

(A) LÞwÍe÷uLz (B) ÍeBçkkçðu

(C) ykìMxÙur÷Þk (D) Ërûký ykr£fk

044. ‚tÞwõŒ hk»xÙku (Þw.yu™.)yu 2024™k ð»ko™u fÞk ð»ko Œhefu ònuh fÞwO Au?

(A) òzwt ÄkLÞ (B) MÚkkr™f ¼k»kkyku

(C) fu{ur÷zTMk (Camelids) (D) swðkh

045. [tÿ …h …nkU[™khku Ëwr™Þk{kt …kt[{ku Ëuþ fÞku Au?

(A) ¼khŒ (B) Ërûký fkurhÞk

(C) ò…k™ (D) ykìMxÙur÷Þk

046. ¼khŒ™e «Úk{ r{‚kR÷ fE Au?

(A) …]Úðe (B) yrø™

(C) ykfkþ (D) ƒúñku‚

047. yktŒhhk»xÙeÞ yðfkþ {Úkf (RLxh™uþ™÷ M…u‚ Mxuþ™) rðþu hrþÞk™k r™ýoÞ ‚tƒtrÄŒ fÞwt ‚k[wt Au?

(A) 2024{kt IIS Akuze Ëuðk™ku r™ýoÞ

(B) 2028 ‚wÄe {Úkf™wt ‚t[k÷™ [k÷w hk¾ðk™ku r™ýoÞ

(C) …]Úðe™e ™e[÷e ¼ú{ýfûkk{kt …kuŒk™e [kufe (ykWx…kuMx) ƒktÄðk 2024{kt Akuze Ëuðwt

(D) 2030{kt IIS Akuze Ëuðk™ku r™ýoÞ

048. òLÞwykhe 2024{kt ¼khŒeÞ ™kifkË¤™k fÞk ÞwØsnksu Ehk™e æðsÄkhe {kAe{khe™k snks™u ƒ[kÔÞwt nŒwt?

(A) ykEyu™yu‚ „kuËkðhe (B) ykEyu™yu‚ rð¢{krËíÞ

(C) ykEyu™yu‚ rð¢ktŒ (D) ykEyu™yu‚ ‚wr{ºkk

049. ¼khŒeÞ ft…™e ÷k‚o™ yuLz xwƒúku (L&T)yu fÞk Ëuþ{kt ‚kih þrõŒ (‚ku÷kh …kðh) Ã÷kLx MÚkk…ðk™ku «kusuõx {u¤ÔÞku?

(A) Þw.yu‚.yu. (B) Þw.yu.R.

(C) ‚kWËe yhurƒÞk (D) Ehk™
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041. India’s “Panchamrit” pledge is related to:

(A) Developing 5-trillion economy (B) River linking project

(C) Combating Climate Change (D) Regional Defence & Security

042. “God of Chaos” is:

(A) NASA’s mission to study Apophis asteroid that will close flyby of Earth in 2029

(B) NASA’s mission to study Bennu asteroid that has a chance of hitting Earth between 2175
and 2195

(C) NASA’s space-based telescope to study asteroids coming closer to Earth’s atmosphere

(D) None of the above

043. Which country will host India for a five-match T20I series in July 2024?

(A) New Zealand (B) Zimbabwe

(C) Australia (D) South Africa

044. The UN has declared 2024 as the year of:

(A) Millets (B) Indigenous languages

(C) Camelids (D) Jowar

045. Which country is the fifth country in the world to reach the moon?

(A) India (B) South Korea

(C) Japan (D) Australia

046. Which is the first Indian missile?

(A) Prithvi (B) Agni

(C) Akash (D) BrahMos

047. Which is correct regarding Russia’s decision on the International Space Station (ISS)?

(A) Decided to leave the ISS in 2024

(B) Continue station operations through 2028

(C) Leave in 2024 to build its own outpost in low Earth orbit

(D) Decided to leave ISS in 2030

048. In January 2024 which Indian Navy warship rescued an Iranian-flagged fishing vessel?

(A) INS Godavari (B) INS Vikramaditya

(C) INS Vikrant (D) INS Sumitra

049. The Indian company Larsen and Toubro (L&T) bagged a project to set up a solar power plant
in which country?

(A) USA (B) UAE

(C) Saudi Arabia (D) Iran
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050. nk÷{kt fÞku Ëuþ G20™k «{w¾…Ëu Au?

(A) ¼khŒ (B) ƒúkrÍ÷

(C) Ërûký ykr£fk (D) Exk÷e

051. òu ºký ¢r{f «kf]ríkf MktÏÞkykuLkku økwýkfkh 120 nkuÞ íkku ºkýu MktÏÞkykuLkku Mkhðk¤ku fux÷ku ÚkkÞ ?
(A) 12 (B) 15
(C) 5 (D) 6

052. yuf MkkuMkkÞxe{kt økwshkíke AkÃkk ðkt[íkk ÃkrhðkhLke MktÏÞk ytøkúuS AkÃkk ðkt[íkk ÃkrhðkhLke MktÏÞk fhíkk çk{ýe Au. òu
Ãkkt[ (5) Ãkrhðkh çku {ktÚke fkuE Ãký AkÃkwt Lk ðkt[íkk nkuÞ íkku, MkkuMkkÞxe{kt fw÷ fux÷k Ãkrhðkh hnu Au ?
(A) 60 (B) 35

(C) 65 (D) yÃkqhíke {krníke

053. òu ‘y’, ‘çk’ Lkku ¼kE Au ‘f’, ‘çk’Lkk rÃkíkk Au. ‘z’, ‘f’Lkk rÃkíkk Au. ‘E’, ‘z’Lke ÃkíLke Au. íkku ‘E’Lkku ‘y’ MkkÚkuLkku þwt MktçktÄ
nkuÞ ?

(A) Ãkkiºke (B) Ãkkiºk

(C) ËkËe (D) {kíkk

054. yuf AkufheLkku Vkuxku çkíkkðíkkt yYýu fÌkwt “íkuýe {khk ËkËkLkk ËefhkLke Ëefhe Au.” yYýLkku íku Akufhe MkkÚku þwt MktçktÄ
nkuÞ ?

(A) rÃkíkhkE (B) fkfk

(C) ¼ºkeòu (D) rÃkíkk

055. Lke[u ykÃku÷ MktÏÞk{ktÚke fE MktÏÞk 9 Úke rð¼kßÞ Au ?
(A) 4539 (B) 23544
(C) 7381 (D) 2451

056. yuf øktSVkLkk Ãk¥kk{kt {w¾kf]rík Ëþkoðíkk Ãk¥kkLke MktÏÞk fux÷e nkuÞ ?
(A) 13 (B) 16
(C) 3 (D) 12

057. n ½xfku Ähkðíkk yuf økýLkk fux÷k Wr[ík WÃkøkýku nkuÞ ?
(A) n2 (B) n2–2
(C) 2n (D) 2n–2

058. Ãknu÷e Mkkík rð¼kßÞ MktÏÞkykuLkku {æÞf yLku {æÞMÚk þkuÄku.
(A) 7, 9 (B) 9, 9
(C) 7.28, 7 (D) 8, 9

059. òu Mk{ktíkh ©uýe{kt [kuÚkwt yLku yrøkÞkh{wt ÃkË yLkw¢{u 10 yLku –11 nkuÞ, íkku íku ©uýeLkwt fux÷k{wt ÃkË 1 nkuÞ ?

(A) 7{wt (B) 6êwt

(C) 8{wt (D) fkuE Ãký rðfÕÃk Lknª

060. yuf nhku¤{kt W{k zkçkuÚke Mk¥kh{kt yLku s{ýuÚke [kuðeMk{kt MÚkkLku Au. nhku¤{kt fw÷ fux÷e ÔÞÂõíkyku nþu ?
(A) 39 (B) 40
(C) 41 (D) 42
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050. Which country is the President of G20 currently?

(A) India (B) Brazil

(C) South Africa (D) Italy
051. The product of three consecutive numbers is 120. The sum of these numbers is:

(A) 12 (B) 15

(C) 5 (D) 6

052. In a society, the number of families reading Gujarati newspaper is double than that reading
English newspaper. If 5 families don’t read either, then the total number of families residing in
the society is:

(A) 60 (B) 35

(C) 65 (D) Inadequate data

053. If A is B’s brother, C is B’s father, D is C’s father and E is D’s wife, then how is E related to A?

(A) grand daughter (B) grand son
(C) grand mother (D) Mother

054. Referring to a girl in a photography Arun said, “she is the daughter of my grand father’s son.”
How is Arun related to the girl?

(A) Cousin (B) Uncle

(C) Nephew (D) Father

055. Which of the following numbers is exactly divisible by 9?

(A) 4539 (B) 23544

(C) 7381 (D) 2451

056. How many face cards does a deck contain?
(A) 13 (B) 16

(C) 3 (D) 12

057. How many proper subsets does a set with n elements have?

(A) n2 (B) n2 – 2

(C) 2n (D) 2n – 2

058. The mean and median of first seven composite numbers are

(A) 7, 9 (B) 9, 9

(C) 7.28, 7 (D) 8, 9
059. If the fourth and the eleventh terms of an arithmetic progression are 10 and –11 respectively,

which term in this progression would be equal to 1?

(A) 7th (B) 6th

(C) 8th (D) None

060. In a row, Uma is at 17th position from the left and 24th from the right. How many people are
there in the row?

(A) 39 (B) 40

(C) 41 (D) 42
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061. Lke[u ykÃku÷ rðfÕÃkku Ãkife fÞku rðfÕÃk fkuE Ãký ½xLkkLke Mkt¼kðLkk Lk nkuE þfu ?
(A) 4/7 (B) 7/4
(C) 87% (D) 0-9

062. yuf Úku÷k{kt 4 ÷k÷ htøkLkk yLku 6 fk¤k htøkLkk Ëzk Au. òu Úku÷k{ktÚke fkuE Ãký yuf Ëzku ÷uðk{kt ykðu íkku íku Ëzku ÷k÷
htøkLkku Lk nkuðkLke Mkt¼kðLkk fux÷e ÚkkÞ ?
(A) 3/5 (B) 2/3
(C) 1 (D) 2/5

063. «Úk{ ºkeMk «kf]ríkf MktÏÞkykuLkku {æÞMÚk (median) þkuÄku.
(A) 15 (B) 16
(C) 15.5 (D) 16.5

064. 6' 7" çkhkçkh fux÷k #[ ÚkkÞ ?
(A) 78 (B) 67
(C) 79 (D) 90

065. yuf ðøkoLke Ãkheûkk{kt rðãkÚkeo P Lkk økwý rðãkÚkeo Q Úke ðÄkhu Au. rðãkÚkeo R Lkk økwý MkkiÚke ykuAk LkÚke. rðãkÚkeo S Lkk
økwý rðãkÚkeo T Úke ykuAk yLku rðãkÚkeo P Úke ðÄkhu Au. íkku MkkiÚke ykuAk økwý fkuLkk nþu ?
(A) Q (B) S
(C) T (D) R

066. yuf {k¤e rËðMkLkk 8 f÷kf ð]ûkkhkuÃkýLkwt fk{ fhu Au. íku yuf f÷kf{kt 10 ð]ûkku ðkðeLku, Ëh çku f÷kfu 30 r{rLkxLkku
ykhk{ ÷u Au. 8 f÷kf{kt fux÷k ð]ûkku ðkðe þfu ?
(A) 60 (B) 65
(C) 70 (D) 75

067. yuf MÚk¤Lkwt 21 rËðMkLkwt Mkhuhkþ íkkÃk{kLk 25°C Au. òu Ãknu÷k 15 rËðMkLkwt Mkhuhkþ íkkÃk{kLk 24°C nkuÞ íkku ÃkAeLkk
6 rËðMkLkwt Mkhuhkþ íkkÃk{kLk fux÷wt nkuÞ ?
(A) 21°C (B) 24.5°C
(C) 27.5°C (D) 26.5°C

068. Lke[u ykÃku÷ ytøkúuS þçËkuLku ytøkúuS þçËfku»k «{kýu økkuXðku.

1. CARROM 2. CARRIER 3. CARROT 4. CAREER
(A) 4, 1, 3, 2 (B) 4, 1, 2, 3
(C) 4, 2, 1, 3 (D) 4, 3, 2, 1

069. ykÃku÷ MktÏÞk 78496352 {kxu òu ytfkuLku [zíkk ¢{{kt økkuXððk{kt ykðu íkku zkçkuÚke [kuÚkk yLku s{ýuÚke ºkeò ytfkuLkku
økwýkfkh fux÷ku ÚkkÞ ?
(A) 12 (B) 35
(C) 24 (D) 32

070. rLkBLkr÷r¾ík Mk{efhý{kt ÞkuøÞ rLkþkLkeyku {qfku.

24  3  9  3  70 = 5

(A) ,  +, – (B) , +,  –
(C) ,  –, + (D) –, +,  +
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061. Which one in the following is not a probability of any event?

(A) 4/7 (B) 7/4

(C) 87% (D) 0.9

062. A bag contains 4 red and 6 black balls. One ball is drawn at random from the bag. The probability
that the drawn ball is not red is

(A) 3/5 (B) 2/3

(C) 1 (D) 2/5

063. The median of the first thirty natural numbers is

(A) 15 (B) 16

(C) 15.5 (D) 16.5

064. How many inches is 6' 7" equal to?

(A) 78 (B) 67

(C) 79 (D) 90

065. In a class test, P has scored more marks than Q, R has not scored the least marks, S has scored
less than T and more than P. Who among them has scored the minimum?

(A) Q (B) S

(C) T (D) R

066. A gardener is hired for planting trees for 8 hours. He plants 10 trees in an hour, takes rest for 30
minutes after every 2 hours. How many trees would he plant in 8 hours?

(A) 60 (B) 65

(C) 70 (D) 75

067. The average temperature of a place for 21 days is found to be 25°C. If the average temperature
for the first 15 days is 24°C, what is the average temperature for the last 6 days?

(A) 21°C (B) 24.5°C

(C) 27.5°C (D) 26.5°C

068. Arrange the given words as per their order in a dictionary

1. CARROM 2. CARRIER 3. CARROT 4. CAREER

(A) 4, 1, 3, 2 (B) 4, 1, 2, 3

(C) 4, 2, 1, 3 (D) 4, 3, 2, 1

069. If the digits in the number 78496352 are arranged in ascending order from left to right, what
will be the product of the digits that appear 4th from the left and 3rd from the right?

(A) 12 (B) 35

(C) 24 (D) 32

070. Insert appropriate mathematical operators so as to have the given expression correct.

24  3  9  3  70 = 5

(A)  (B) 

(C)  (D) 
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071. yufÚke Mkku MkwÄeLke çkufe MktÏÞkyku ÷¾íke ð¾íku ytf ‘8’ (ykX) fux÷e ð¾ík ykðu ?

(A) 14 (B) 15

(C) 20 (D) 22

072. yuf fuxhh 50 Úkk¤e ðU[u íÞkhu 10 Úkk¤eLke ðu[ký ®f{ík sux÷ku LkVku ÚkkÞ Au. íkuLkku LkVku xfkðkhe{kt þwt ÚkkÞ ?

(A) 20 (B) 25

(C) 10 (D) 40

073. yuf Vq÷ðk¤ku Yk. 3000 {kt 20 økw÷ËMíkkyku ¾heËu Au. íku íku{ktÚke 15 økw÷ËMíkkyku 20% LkVk MkkÚku ðU[u Au, yLku çkkfeLkk
30% LkwfMkkLk MkkÚku ðU[u Au. yuftËhu LkVku/LkwfMkkLk þkuÄku.

(A) 10% LkwfMkkLk (B) 10% LkVku

(C) 7.5% LkVku (D) 7.5% LkwfMkkLk

074. fkuE yuf Mkktfuríkf ¼k»kk{kt òu 35 çkhkçkh 6 nkuÞ yLku 45 çkhkçkh 2 nkuÞ, íkku 79 çkhkçkh þwt ÚkkÞ?

(A) 14 (B) 9

(C) 12 (D) 5

075. òu çku hu¾kyku 2x + 3y = 7 yLku 7x + qy = 6 yufçkeòLku Mk{ktíkh nkuÞ íkku q þkuÄku.

(A) 10.5 (B) –10.5

(C) 14/3 (D) –14/3

076. çku ytfkuLke MktÏÞk{ktLkk çktLku ytfkuLkku Mkhðk¤ku 14 Au yLku Ëþf íkÚkk yuf{Lkk ytfkuLkku økwýku¥kh 4 : 3 Au. yk çku ytfLke
MktÏÞk þkuÄku.

(A) 68 (B) 86

(C) 68 yLku 86 çktLku (D) 95

077. yuf çknwfkuýLkk yktíkrhf ¾qýkykuLkku Mkhðk¤ku çknwfkuýLkk çkkÌk ¾qýkykuLkk Mkhðk¤k fhíkkt ºký økýku Au. yk çknwfkuý{kt
fux÷e ¼wòyku nþu ?

(A) 6 (B) 4

(C) 8 (D) 12

078. MktÏÞk 70473 {kt ytf 7 Lke MÚkkLk ®f{íkkuLkku íkVkðík þkuÄku.

(A) 9990 (B) 69930

(C) 2 (D) 70400

079. 1 Úke 2500 MkwÄeLke MktÏÞkyku{ktÚke fkuE Ãký yuf MktÏÞkLkwt [ÞLk fhðk{kt ykðu íkku íku MktÏÞk Ãkqýo ðøko nkuðkLke Mkt¼kðLkk
fux÷e ÚkkÞ ?

(A) 0.02 (B) 0.002

(C) 0.08 (D) 0.04

080. fkuE yuf [ku¬Mk hf{Lku 10% MkkËk ðkŠ»kf ÔÞks Ëhu fux÷k ð»ko {kxu hkufký fhðkÚke íku hf{ ºký økýe ÚkkÞ ?

(A) 10 (B) 15

(C) 20 (D) 5
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071. How many times does the digit ‘8’ appear in listing the even numbers from 1 to 100?

(A) 14 (B) 15

(C) 20 (D) 22

072. A caterer earns a profit equivalent to the selling price of 10 plates, when he serves 50 plates.
What is his gain percentage?

(A) 20 (B) 25

(C) 10 (D) 40

073. A florist bought 20 bouquets for Rs. 3000/-. He sold 15 at a profit of 20% and the remaining at
a loss of 30% find his overall gain / loss in the entire deal.

(A) 10% loss (B) 10% profit

(C) 7.5% profit (D) 7.5% loss

074. In a certain language, if 35 is coded as 6, 45 is coded as 2, then what is 79 coded to?

(A) 14 (B) 9

(C) 12 (D) 5

075. If two lines 2x + 3y = 7 and 7x + qy = 6 are parallel to each other, what is the value of q?

(A) 10.5 (B) –10.5

(C) 14/3 (D) –14/3

076. Find a two-digit-number, the sum of whose digits is 14 and the ratio of the digits at tens place to
unit place is 4:3.

(A) 68 (B) 86

(C) Both 68 and 86 (D) 95

077. The sum of the interior angles of a polygon is thrice the sum of its exterior angles. How many
sides does this polygon have?

(A) 6 (B) 4

(C) 8 (D) 12

078. What is the difference between the local values of 7 in the number 70473?

(A) 9990 (B) 69930

(C) 2 (D) 70400

079. A number is selected at random from 1 to 2500. What is the probability that it is a perfect
square?

(A) 0.02 (B) 0.002

(C) 0.08 (D) 0.04

080. In how many years a sum invested at the rate of 10% simple interest per annum would triple
itself?

(A) 10 (B) 15

(C) 20 (D) 5
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081. çkÄe òuzýe Mkk[e nkuÞ íkuðku rðfÕÃk ÃkMktË fhku.

(A) rËðk÷, rðLkÞÃkwðof, yr¼þkÃk, r¼Míke (B) Mkrn»ýwíkk, Sðkíkw¼qík, ríkríkûkk, hwr[

(C) yLkwMÞwík, Ãkkh{kŠÚkf, WnkÃkkun, íkfoMkhrý (D) {nuMkw÷e, Ãkrh©{, yuhtrzÞwt, ¾uíkeðkze

082. Lke[u ykÃku÷k sqÚk æÞkLku ÷E Mk{kLkkÚkeo þçËku rðþu ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. yíkhkÃke, ºkkrník, yòÛÞwt, ÃkhkÞwt

2. rðÄw, MkwÄktþw, {ÞtË, {]økktf

3. þðohe, rð¼kðhe, hsLkefktík, Mkrhíkk

4. {nu{kLk, Ãkhkuýku, «kÄwý, yríkrÚk

(A) Võík 1 ÞkuøÞ Au. (B) Võík 4 ÞkuøÞ Au.

(C) 1, 2 yLku 4 ÞkuøÞ Au. (D) 1 yLku 4 ÞkuøÞ Au.

083. Lke[u ykÃku÷k ðkõÞ{kt hu¾ktrfík þçËLkku rðhkuÄe þçË ðkÃkhe ðkõÞLkku yÚko Lk çkË÷kÞku nkuÞ yuðk ðkõÞLkku rðfÕÃk
ÃkMktË fhku.

øk]nÞtºkLkk Mkðo [¢ rþrÚk÷ Ãkzâkt

(A) øk]nÞtºkLkkt Mkðo [¢ áZ Lk hÌkkt. (B) øk]nÞtºkLkk Mkðo [¢ áZ Ãkzâkt.

(C) øk]nÞtºkLkkt Mkðo [¢ rþrÚk÷ Lk Ãkzâkt. (D) øk]nÞtºkLkkt Mkðo [¢ áZ Ãkzâkt nþu.

084. YrZ«Þkuøk yLku íkuLkk yÚkoLku òuzíkk òuzfktLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

 YrZ«Þkuøk  yÚko

1. økktX ¾q÷ðe – Mkh¤ Úkðwt

2. økktX fhðe – rLkýoÞ fhðku

3. økktX Úkðe – økkuxk¤ku Úkðku

4. økktX çkktÄðwt – ÃkkuíkkLkwt fhðwt

(A) 2 yLku 3 Mkk[k Au. (B) 1 yLku 3 Mkk[k Au.

(C) 1 yLku 4 Mkk[k Au. (D) 1, 2, 3 yLku 4 çkÄk s Mkk[k Au.

085. Lke[u ykÃku÷k fnuðíkkuLku æÞkLku ÷E íkuLkk rðþu Mkk[ku rðfÕÃk ÃkMktË fhku.

1. yðMkhLkkt økeík yðMkhu økðkÞ

2. fzðwt ykuMkz {k ÃkkÞ

3. Ãkkhfe {k s fkLk ðªÄu

4. ðu¤kLkk ðkòt ðu¤kyu s ðkøku

(A) 1 yLku 4 Mk{kLkkÚkeo fnuðíkku Au, 2 yLku 3 rðYØkÚkeo fnuðíkku Au.

(B) 1 yLku 2 Mk{kLkkÚkeo fnuðíkku Au, 2 yLku 4 rðYØkÚkeo fnuðíkku Au.

(C) 1 yLku 4 Mk{kLkkÚkeo fnuðíkku Au, 1 yLku 3 rðYØkÚkeo fnuðíkku Au.

(D) 1 yLku 3 Mk{kLkkÚkeo fnuðíkku Au, 1 yLku 2 rðYØkÚkeo fnuðíkku Au.
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086. Mkk{krMkf þçË yLku íkuLkk «fkh rð»ku Lke[u Ãkife fÞwt / fÞkt òuzfwt / òuzfkt Mkk[wt / Mkk[kt Au ?

Mkk{krMkf þçË – «fkh

1. ¾wþ¾çkh – {æÞ{ÃkË÷kuÃke

2. ÷k¼k÷k¼ – îtî

3. «ÄkLk{tºke – f{oÄkhÞ

4. ÷¬z¾kuË – WÃkÃkË

(A) 1, 2 yLku 4 Mkk[k Au. (B) 2 yLku 3 Mkk[k Au.

(C) 1, 2, 3 yLku 4 çkÄkt s Mkk[k Au. (D) yuf Ãký Mkk[wt LkÚke.

087. Lke[u ykÃku÷e MktrÄ rðþu Mkk[ku rðfÕÃk ÃkMktË fhku.

1. WØ + ník = WØík

2. yr¼ + Mkuf = yr¼»kuf

3. økwhw + W¥kh = økwY¥kh

4. {kík] + WÃkËuþ = {kºkkuÃkËuþ

(A) 1 yLku 2 Mkk[k Au. (B) 2 yLku 3 Mkk[k Au.

(C) 3 yLku 4 Mkk[k Au. (D) 1 yLku 4 Mkk[k Au.

088. Lke[u ykÃku÷k y÷tfkhkuLkk WËknhý æÞkLku ÷E íkuLkk rð&÷u»kýLkku Mkk[ku rðfÕÃk ÃkMktË fhku.

1. çkeS Mkktsu ík÷kþ{kt Lkef¤u÷k rMkÃkkELke Lksh yu çku çkkufzk Ãkh Ãkze.

2. {khe ðeýkLke ðký søkkze íkwt ò !

3. y{khe MktMÚkk rðrðÄ «rík¼k Ähkðíkk çkk¤fkuLkwt MkL{kLk fhþu.

4. f]»ý Au {nk[kuh, M{hý {kºkÚke [kuhe ÷u ÃkkÃk sL{kuLkkt

(A) 1 -  yrík~ÞkuÂõík, 2 - ðýkoLkw«kMk, 3 - MkSðkhkuÃký, 4 - yLkLðÞ

(B) 1 -  yrík~ÞkuÂõík, 2 - YÃkf, 3 - MkSðkhkuÃký, 4 - ÔÞríkhuf

(C) 1 -  yrík~ÞkuÂõík, 2 - YÃkf, 3 - Wí«uûkk, 4 - ÔÞríkhuf

(D) 1 -  yrík~ÞkuÂõík, 2 - YÃkf, 3 - MkSðkhkuÃký, 4 - ÔÞksMíkwrík

089. AtËLkk «fkh yLku WËknhý rð»ku Lke[u Ãkife fÞwt / fÞkt òuzfwt / òuzfkt Mkk[wt / Mkk[kt Au ?

 AtË  WËknhý

1. rþ¾rhýe – «¼k, feŠík, fktrík, ÄLk, rð¼ð, MkðoMð, sLkLkk!

2. {tËk¢kLíkk – rË÷u rË÷ {÷kððk rË÷Úke çkq{ Ãkkze níke!

3. ðMktíkrík÷fk – nku {tshe yøkh ftfh fu rðntøk.

4. WÃkuLÿð@k – Ãkh{ rð{÷ þku¼k [trÿfkLke rðhksu.

Lke[u Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1 yLku 4 Mkk[k Au. (B) 1 yLku 3 Mkk[k Au.

(C) 2 yLku 3 Mkk[k Au. (D) 1, 2, 3 yLku 4 çkÄk Mkk[k Au.
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090. Lke[u rðøkíkkuLku æÞkLku ÷E Mkk[ku rðfÕÃk ÃkMktË fhku.

1. WÃkÃkË Mk{kMk - Ãktfs

2. rÃkík] + yk¿kk = rÃkºkk¿kk

3. Ëkunhku : [¢ðíkeo {nkhks [kr÷Þk, fk¤[¢Lke Vuheyu

Mkøkkt ËeXkt {U þknyk÷{Lkk, ¼e¾ {køkíkk þuheyu.

4. &÷u»k y÷tfkh : ßÞkt ËuðkuLkk Ãkh{ ðh þku Ãkwºk ÃkkBÞk ÃkLkkuíkku.

(A) 1 yLku 2 Mkk[k Au. (B) 2 yLku 3 Mkk[k Au.

(C) 1, 3 yLku 4 Mkk[k Au. (D) 1, 2 yLku 4 Mkk[k Au.
091. He is thinking about joining _______ police or _______ air force.

(A) a/an (B) a/the
(C) the/the (D) no article/ no article

092. You should be ashamed _______ your misconduct.
(A) by (B) of
(C) to (D) at

093. You wouldn't like to invite my brother, _______? (Select the correct question tag)
(A) would you? (B) did you?
(C) won't you? (D) wouldn't you?

094. When you investigated the case, _______ time to see all the documents?
(A) have you had (B) do you have
(C) had you had (D) did you have

095. How fast _______ you _______ when the accident _______?
(A) are / driving / happening (B) did / drove / happened
(C) were / driving / happened (D) was / driving / happen

096. If you had not been there, I _______ differently.
(A) might have acted (B) might act
(C) might acted (D) may have acted

097. I think we still have _______ time to study before the exam.
(A) any (B) a few
(C) a little (D) many

098. We have warned you. (Change the voice)
(A) You are warned by us. (B) You have been warned by us.
(C) You had been warned by us. (D) You are warning by us.

099. He has only _______ friends.
(A) a few (B) less
(C) more (D) fewer

100. _______ to the internet is allowed but make sure employees should not use the data in _______
(A) Excess / access (B) Access / excess
(C) Axcess / excess (D) Excess / axcess
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101. What is the fundamental unit of radiation exposure in the International System of Units (SI)?
(A) Roentgen (B) Rad
(C) Gray (D) Sievert

102. In computed tomography (CT), what is the purpose of a bowtie filter?
(A) To shape the X-ray beam (B) To reduce scatter radiation
(C) To improve contrast (D) To increase spatial resolution

103. Which of the following is a common modality in external beam radiation therapy?

(A) Brachytherapy (B) CyberKnife
(C) High-Dose Rate (HDR) (D) Gamma Knife

104. In chest radiography, which imaging view is typically used to evaluate the lungs in the lateral
plane?
(A) Anteroposterior (AP) view (B) Posteroanterior (PA) view

(C) Lateral view (D) Oblique view
105. What is the purpose of contrast agents in medical imaging?

(A) To enhance patient comfort (B) To reduce radiation dose
(C) To improve visualization of structures (D) To speed up imaging process

106. Which radiopharmaceutical is commonly used for bone scintigraphy?
(A) Technetium-99m (B) Fluorine-18
(C) Iodine-131 (D) Thallium-201

107. In magnetic resonance imaging (MRI), what property is utilized to create image contrast?

(A) X-ray absorption (B) Radioactive decay
(C) Nuclear spin (D) Electrical resistance

108. Which particle is commonly used in positron emission tomography (PET)?
(A) Proton (B) Neutron

(C) Positron (D) Electron
109. Which of the following is a common type of radiation detector used in nuclear medicine?

(A) Geiger-Muller counter (B) Ionization chamber
(C) Scintillation detector (D) Dosimeter

110. What is the primary function of a dosimeter in radiation protection?
(A) Measure radiation dose (B) Generate X-rays
(C) Monitor temperature (D) Capture medical images

111. Which type of radiation interaction is responsible for DNA damage in cells?

(A) Photoelectric effect (B) Compton scattering
(C) Pair production (D) Alpha decay

112. Chronic exposure to ionizing radiation is most likely to lead to:
(A) Acute radiation syndrome (B) Somatic effects

(C) Genetic effects (D) Latent effects
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113. What is the primary goal of intensity-modulated radiation therapy (IMRT)?
(A) Deliver high doses to large areas
(B) Minimize radiation exposure to surrounding healthy tissues
(C) Increase patient comfort during treatment
(D) Reduce treatment time

114. In brachytherapy, what is the term for the radioactive material placed directly into or near the
tumor?
(A) Radiosensitizer (B) Intracavitary
(C) Brachyfilament (D) Implant

115. Which technique combines imaging and treatment delivery in real-time, adjusting for patient
motion?
(A) Conformal radiotherapy (B) Stereotactic body radiation therapy (SBRT)
(C) Tomotherapy (D) Proton therapy

116. What is the purpose of quality assurance in radiation therapy?
(A) To increase radiation dose to the tumor
(B) To ensure proper machine calibration and treatment planning
(C) To speed up treatment sessions
(D) To reduce patient follow-up appointments

117. Which of the following is a common source of external beam radiation in medical applications?
(A) Cobalt-60 (B) Technetium-99m
(C) Iodine-131 (D) Fluorine-18

118. What organization is responsible for setting standards for the use of radionuclides in medicine?
(A) World Health Organization (WHO) (B) International Atomic Energy Agency (IAEA)
(C) Food and Drug Administration (FDA) (D) European Medicines Agency (EMA)

119. Which component of radiographic film is sensitive to X-rays and is responsible for capturing
the image?
(A) Developer (B) Fixer
(C) Emulsion (D) Base

120. What term describes the sharpness of an image and the ability to visualize small structures?
(A) Contrast (B) Spatial resolution
(C) Density (D) Radiopacity

121. In digital radiography, what replaces the traditional film used in conventional radiography?
(A) Photomultiplier tube (B) Computed radiography cassette
(C) Image intensifier (D) Fluoroscopic screen

122. What property of hydrogen atoms is exploited in magnetic resonance imaging (MRI)?
(A) Electrical charge (B) Spin
(C) Mass (D) Radioactivity

123. In ultrasound imaging, what is the purpose of the transducer?
(A) Generate sound waves (B) Measure temperature
(C) Create contrast (D) Convert echoes into electrical signals
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124. What is the primary purpose of lead aprons worn by healthcare professionals in radiology?
(A) Reduce patient dose (B) Protect against scattered radiation
(C) Enhance image contrast (D) Increase patient comfort

125. Which cardinal principle of radiation protection emphasizes keeping radiation exposure as low
as reasonably achievable (ALARA)?
(A) Time (B) Distance
(C) Shielding (D) Minimization

126. What is the preferred method for disposing of low-level radioactive waste?

(A) Incineration (B) Deep geological repositories
(C) Surface storage (D) Discharge into water bodies

127. During the transport of radioactive materials, what is used to minimize the risk of radiation
exposure
to the public and the environment?

(A) Lead-lined containers (B) Air transport
(C) Underground pipelines (D) Remote-controlled vehicles

128. What legal document outlines the radiation protection standards for the general public and
occupational workers?

(A) Radiologic Manifesto (B) Diagnostic Guidelines
(C) Radiation Control Act (D) International Radiology Accord

129. In the event of a radiation emergency, what is the primary focus of medical management?
(A) Evacuation (B) Decontamination

(C) Administration of antibiotics (D) Psychological counseling
130. Which imaging modality is known for its high sensitivity to soft tissue and lack of ionizing

radiation?
(A) Computed tomography (CT) (B) Positron emission tomography (PET)
(C) Magnetic resonance imaging (MRI) (D) Ultrasonography

131. What is the term for the ratio of the absorbed dose in tissue to the energy imparted in the tissue
by ionizing radiation?
(A) Exposure (B) Absorbed dose
(C) Dose equivalent (D) Relative biological effectiveness

132. In fluoroscopy, what is the primary purpose of the image intensifier?

(A) Increase patient comfort
(B) Enhance spatial resolution
(C) Amplify and convert X-ray photons to light
(D) Reduce radiation dose

133. Which type of radiation therapy uses protons or heavy ions to treat tumors?
(A) External beam radiation therapy (B) CyberKnife therapy
(C) Proton therapy (D) Brachytherapy
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134. In mammography, which type of X-ray tube is commonly used to optimize imaging of breast
tissue?

(A) Fixed anode (B) Rotating anode

(C) Stationary anode (D) Mini-focus tube

135. What is the purpose of a radiopharmaceutical in nuclear medicine imaging?

(A) Improve patient comfort (B) Provide anatomical details

(C) Emit gamma rays for detection (D) Reduce examination time

136. In single-photon emission computed tomography (SPECT), how is the three-dimensional
distribution of a radiopharmaceutical obtained?

(A) Positron emission (B) Gamma camera rotation

(C) Time-of-flight imaging (D) Magnetic resonance imaging

137. Which imaging modality is based on the detection of emitted gamma rays following the injection
of a radionuclide?

(A) Magnetic resonance imaging (MRI) (B) Positron emission tomography (PET)

(C) Computed tomography (CT) (D) Ultrasonography

138. What is the role of a cyclotron in the production of positron-emitting radionuclides for PET
imaging?

(A) Acceleration of electrons (B) Production of X-rays

(C) Generation of positrons (D) Synthesis of radiopharmaceuticals

139. Which type of radiation detector is commonly used in environmental radiation monitoring?

(A) Geiger-Muller counter (B) Scintillation detector

(C) Ionization chamber (D) Dosimeter

140. What unit is used to express the activity of a radioactive source?

(A) Gray (Gy) (B) Sievert (Sv)

(C) Becquerel (Bq) (D) Roentgen (R)

141. What type of radiation interaction is responsible for the majority of dose delivered in diagnostic

radiography?

(A) Photoelectric effect (B) Compton scattering

(C) Pair production (D) Rayleigh scattering

142. Which biological effect of radiation occurs when damage to cells is not immediately evident but

appears later in the exposed individual’s life?

(A) Acute radiation syndrome (B) Somatic effects

(C) Genetic effects (D) Deterministic effects

143. In conformal radiotherapy, what is the aim of shaping the radiation dose to match the three-

dimensional shape of the tumor?

(A) Increase patient comfort (B) Minimize radiation dose to healthy tissues

(C) Reduce treatment time (D) Enhance spatial resolution
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144. What is the primary advantage of high-dose rate (HDR) brachytherapy over low-dose rate
(LDR) brachytherapy?
(A) Prolonged treatment time (B) Reduced radiation exposure to staff
(C) Greater dose uniformity (D) Enhanced patient comfort

145. What is stereotactic radiosurgery commonly used to treat?
(A) Superficial skin lesions (B) Brain tumors
(C) Lung cancers (D) Gastrointestinal malignancies

146. What is the purpose of a treatment plan verification process in radiation therapy quality
assurance?

(A) Increase patient comfort
(B) Ensure accurate and safe delivery of the prescribed dose
(C) Minimize radiation dose to the tumor
(D) Shorten treatment sessions

147. Which radioactive isotope is commonly used in brachytherapy for the treatment of prostate
cancer?
(A) Iodine-131 (B) Technetium-99m
(C) Cesium-137 (D) Iridium-192

148. What is the purpose of calibrating radionuclide solutions in nuclear medicine?

(A) Enhance patient comfort
(B) Ensure accurate dosage for diagnostic procedures
(C) Reduce radiation exposure to staff
(D) Shorten examination time

149. What is the function of the fixer solution in the development of radiographic film?
(A) Increase film sensitivity (B) Remove unexposed silver halide crystals
(C) Enhance image contrast (D) Improve spatial resolution

150. What term describes the overall blackening of a radiographic film and is influenced by the
number of X-ray photons reaching the film?

(A) Density (B) Contrast
(C) Spatial resolution (D) Radiopacity

151. In digital subtraction angiography (DSA), what is subtracted from the image to enhance
visualization of blood vessels?
(A) Bone structures (B) Soft tissue

(C) Contrast media (D) Air
152. What is the role of a radiofrequency coil in magnetic resonance imaging (MRI)?

(A) Generate static magnetic field
(B) Produce X-ray photons

(C) Transmit and receive radiofrequency signals
(D) Measure temperature changes
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153. Which term describes the ability of an ultrasound system to distinguish between tissues with
different acoustic properties?
(A) Doppler effect (B) Spatial compounding
(C) Contrast resolution (D) Axial resolution

154. What is the purpose of lead shielding in X-ray rooms?
(A) Enhance image contrast (B) Increase patient comfort
(C) Reduce radiation exposure to personnel (D) Minimize scatter radiation

155. Which personnel monitoring device is commonly used to measure occupational radiation
exposure?
(A) Geiger-Muller counter (B) Film badge
(C) Scintillation detector (D) Thermoluminescent dosimeter (TLD)

156. What is the primary objective of safely disposing of radioactive waste?
(A) Reduce patient dose (B) Minimize environmental impact
(C) Accelerate decay of isotopes (D) Increase treatment efficiency

157. During the transportation of radioactive materials, what labeling is required on the packaging?
(A) Radiation warning symbol (B) Biohazard symbol
(C) Hazardous materials placard (D) Radioactive waste sticker

158 What international body provides guidelines and recommendations for radiation protection in
medicine?
(A) World Trade Organization (WTO)
(B) United Nations Educational, Scientific and Cultural Organization (UNESCO)
(C) International Commission on Radiological Protection (ICRP)
(D) European Union (EU)

159. What is the primary role of a gadolinium-based contrast agent in MRI?
(A) Enhance spatial resolution (B) Increase T1 relaxation time
(C) Suppress signal intensity (D) Reduce scan time

160. In what way do hybrid imaging modalities, such as PET/CT and SPECT/CT, contribute to
clinical practice?
(A) Decrease imaging time
(B) Provide anatomical and functional information in a single examination
(C) Reduce radiation dose to patients
(D) Enhance image resolution

161. What is the SI unit for radiation dose equivalent?
(A) Gray (Gy) (B) Sievert (Sv)
(C) Roentgen (R) (D) Curie (Ci)

162. Which imaging modality is based on the principles of nuclear magnetic resonance?
(A) Computed tomography (CT) (B) Positron emission tomography (PET)
(C) Magnetic resonance imaging (MRI) (D) Ultrasonography
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163. In stereotactic body radiation therapy (SBRT), what is the primary focus?
(A) Large field irradiation (B) Precise dose delivery to small volumes
(C) Brachytherapy applications (D) Low-energy X-ray therapy

164. What radiographic view is commonly used to visualize the cervical spine in lateral projection?
(A) Anteroposterior (AP) view (B) Lateral view
(C) Oblique view (D) Axial view

165. What is the primary advantage of cone-beam computed tomography (CBCT) in radiation
therapy?
(A) Reduced imaging time (B) Improved spatial resolution
(C) 3D visualization of anatomy (D) Lower radiation dose

166. In SPECT imaging, how is the tomographic information obtained?
(A) Parallel-hole collimation (B) Time-of-flight measurement
(C) Positron annihilation (D) Spiral acquisition

167. What imaging modality is commonly used for evaluating soft tissue injuries in sports medicine?
(A) Fluoroscopy (B) Magnetic resonance imaging (MRI)
(C) Positron emission tomography (PET) (D) Ultrasonography

168. What is the role of a PET scanner in molecular imaging?
(A) Measure electrical resistance (B) Detect positron-emitting radionuclides
(C) Generate X-rays (D) Produce magnetic resonance signals

169. Which of the following is a commonly used material in gas-filled radiation detectors?
(A) Scintillator crystal (B) Photodiode
(C) Air (D) Phosphor screen

170. What is the purpose of a pocket dosimeter worn by radiation workers?
(A) Measure background radiation (B) Continuously monitor radiation exposure
(C) Measure radiation dose rate (D) Assess air quality

171. Which type of radiation interaction is responsible for producing free radicals in biological tissues?
(A) Photoelectric effect (B) Compton scattering
(C) Direct ionization (D) Pair production

172. What is the LD50/30 in the context of radiation exposure?
(A) Lethal dose for 50% of the population in 30 days
(B) Lethal dose for 30% of the population in 50 days
(C) Limiting dose for 30% of the population in 50 years
(D) Lethal dose for 50% of the population in 3 hours

173. In intensity-modulated radiation therapy (IMRT), how are radiation beams adjusted during
treatment?
(A) Fixed intensity throughout treatment (B) Dynamic modulation of beam intensity
(C) Limited to a single treatment angle (D) Manual adjustment by the radiation therapist

174. What is the primary advantage of low-dose rate (LDR) brachytherapy?
(A) Short treatment time (B) Reduced radiation exposure to staff
(C) High dose delivered over a short period (D) Greater dose control
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175. Which technique delivers radiation from multiple angles using computer-controlled movements
of the treatment machine?
(A) Stereotactic radiosurgery
(B) Intensity-modulated radiation therapy (IMRT)

(C) Proton therapy
(D) Brachytherapy

176. What is the purpose of a treatment delivery verification process in radiation therapy quality
assurance?

(A) Enhance image contrast
(B) Confirm proper patient positioning and dose delivery
(C) Minimize radiation dose to the tumor
(D) Shorten treatment sessions

177. Which radioactive isotope is commonly used in thyroid imaging and therapy?
(A) Iodine-131 (B) Technetium-99m
(C) Cobalt-60 (D) Strontium-90

178. What is the half-life of a radionuclide?

(A) Time required for the activity to decay to half of its initial value
(B) Time during which the radionuclide remains stable
(C) Time required for the activity to double
(D) Time during which the radionuclide emits radiation continuously

179. What factor influences radiographic film contrast?
(A) Developer temperature (B) Fixer concentration
(C) Emulsion thickness (D) Film base density

180. What term describes the ability of a radiographic system to distinguish between small objects
with high subject contrast?

(A) Density (B) Contrast
(C) Spatial resolution (D) Radiopacity

181. What is the primary advantage of digital radiography over conventional film-screen
radiography?
(A) Reduced patient dose (B) Improved spatial resolution

(C) Faster image acquisition (D) Enhanced image contrast
182. What property of tissues affects the T1 relaxation time in magnetic resonance imaging?

(A) Fat content (B) Water content
(C) Proton density (D) Magnetic susceptibility

183. Which type of ultrasound transducer is commonly used for imaging deep structures within the
body?
(A) Linear array (B) Phased array
(C) convex array (D) Annular array

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BHE - MASTER ] 31 P.T.O.

184 What is the Doppler effect utilized for in ultrasound imaging?

(A) Image reconstruction (B) Tissue characterization

(C) Blood flow velocity measurement (D) Attenuation correction

185. What is the purpose of a lead-lined radiographic room?

(A) Enhance image contrast (B) Increase patient comfort

(C) Shield against scattered radiation (D) Reduce radiation dose to the operator

186. What is the preferred method for disposing of high-level radioactive waste from nuclear
medicine?

(A) Incineration (B) Deep geological repositories

(C) Surface storage (D) Aqueous waste disposal

187. What is the primary consideration when packaging radioactive materials for transport?

(A) Weight of the package (B) Ease of handling

(C) Minimization of radiation exposure (D) Cost of transportation

188. What is the primary purpose of the As Low As Reasonably Achievable (ALARA) principle in
radiation protection?

(A) Reduce patient dose (B) Minimize radiation exposure to staff

(C) Increase image contrast (D) Expedite treatment sessions

189. What is the primary goal of early triage in a radiation emergency?

(A) Administering prophylactic antibiotics

(B) Evacuating affected individuals

(C) Assessing and prioritizing medical care

(D) Establishing quarantine zones

190. In what way does artificial intelligence (AI) contribute to medical imaging?

(A) Enhancing patient comfort during imaging

(B) Reducing radiation exposure to patients

(C) Improving diagnostic accuracy and efficiency

(D) Shortening treatment sessions

191. What safety measures are employed during the transport of radioactive materials?

(A) Dark containers for camouflage

(B) Remote-controlled handling

(C) Rapid transportation during peak hours

(D) Open-air transport for ventilation

192. In nuclear medicine, what does the term “SPECT” stand for?

(A) Single Photon Emission Computed Tomography

(B) Sequential Positron Emission Computed Tomography

(C) Spectral Photon Emission Capture Tomography

(D) Subcutaneous Positron Emission Counter Tomography
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193. What is the primary advantage of using a linear accelerator (linac) in external beam radiation

therapy?

(A) Lower cost (B) Reduced treatment time

(C) Greater dose uniformity (D) Adjustable treatment angles

194. Which radiographic view is commonly used to assess fractures of the scaphoid bone in the
wrist?

(A) Anteroposterior (AP) view (B) Lateral view

(C) Oblique view (D) Axial view

195. What is the purpose of the “time of flight” (TOF) technique in positron emission tomography
(PET)?

(A) Enhance patient comfort (B) Improve spatial resolution

(C) Reduce radiation dose (D) Shorten examination time

196. What is the role of a collimator in a gamma camera used for nuclear medicine imaging?

(A) Generate gamma rays

(B) Detect positron emissions

(C) Selectively allow only certain gamma rays to reach the detector

(D) Convert gamma rays into electrical signals

197. Which imaging modality is based on the principles of diffraction and interference of X-rays?

(A) Fluoroscopy (B) Computed tomography (CT)

(C) Magnetic resonance imaging (MRI) (D) Ultrasound

198. What is the function of a cyclotron in the production of radiopharmaceuticals for PET imaging?

(A) Accelerate protons (B) Generate X-rays

(C) Produce positrons (D) Synthesize contrast agents

199. Which radiation detector is commonly used for personal dosimetry in occupational radiation

monitoring?

(A) Geiger-Muller counter (B) Scintillation detector

(C) Ionization chamber (D) Photodiode

200. What is the primary purpose of a radiographic grid used in X-ray imaging?

(A) Enhance image contrast (B) Reduce patient dose

(C) Improve spatial resolution (D) Minimize scattered radiation

201. What is the primary target of ionizing radiation in biological tissues?

(A) Nucleus (B) Mitochondria

(C) Cell membrane (D) Endoplasmic reticulum

202. What term is used to describe the phenomenon where a non-irradiated cell exhibits radiation

damage due to signals received from nearby irradiated cells?

(A) Somatic effect (B) Genetic effect

(C) Bystander effect (D) Deterministic effect
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203. What is the purpose of using bolus material in superficial radiotherapy?
(A) Enhance patient comfort
(B) Increase treatment efficiency
(C) Improve dose distribution in superficial tissues
(D) Shorten treatment sessions

204. Which radioactive isotope is commonly used in brachytherapy for prostate cancer treatment?
(A) Iodine-131 (B) Palladium-103
(C) Cobalt-60 (D) Technetium-99m

205. What is the purpose of using a thermoplastic mask in external beam radiation therapy?
(A) Enhance patient comfort
(B) Ensure accurate patient positioning
(C) Reduce radiation dose to healthy tissues
(D) Minimize treatment time

206. What is the purpose of a daily machine warm-up in a linear accelerator used for radiation
therapy?
(A) Increase patient comfort (B) Ensure stable machine performance
(C) Minimize radiation dose to the tumor (D) Shorten treatment sessions

207. Which radioactive isotope is commonly used in gamma knife radiosurgery for treating brain
tumors?
(A) Cesium-137 (B) Cobalt-60
(C) Iridium-192 (D) Technetium-99m

208. What organization provides guidelines for the calibration of instruments used in the
measurement of
radioactivity?
(A) International Atomic Energy Agency (IAEA)
(B) Food and Drug Administration (FDA)
(C) World Health Organization (WHO)
(D) American National Standards Institute (ANSI)

209. What is the purpose of the developer solution in the processing of radiographic film?
(A) Enhance film sensitivity (B) Remove unexposed silver halide crystals
(C) Increase image contrast (D) Improve spatial resolution

210. What term describes the ability of a radiographic system to visualize small structures with low
subject contrast?
(A) Density (B) Contrast
(C) Spatial resolution (D) Radiopacity

211. Radiation produced from tube other than focal spot is called?
(A) scatter (B) stray
(C) primary (D) characteristic
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212. What is the smallest unit in reconstruction / projection of magnetic resonance imaging (MRI)
image?
(A) pixel (B) dot
(C) voxel (D) binary unit

213. What is the Doppler effect commonly used for in ultrasound imaging?
(A) Image reconstruction (B) Contrast enhancement
(C) Blood flow velocity measurement (D) Soft tissue differentiation

214. What is the purpose of a radiation warning sign in a radiology facility?
(A) Enhance image contrast
(B) Alert personnel to potential radiation hazards
(C) Reduce patient dose
(D) Provide information about radiation therapy techniques

215. Which radiation protection principle emphasizes the importance of proximity from a radiation
source?
(A) Time (B) Shielding
(C) Distance (D) Exposure

216. What is the primary goal of decommissioning a nuclear medicine facility?
(A) Reduce patient dose (B) Minimize environmental impact
(C) Optimize imaging techniques (D) Increase operator comfort

217. During the transport of radioactive materials, what precautions are taken to prevent
unauthorized access and theft?
(A) Use of lead-lined containers (B) Escorted transportation
(C) Disguised packaging (D) Radioactive waste stickers

218. Which international organization establishes safety standards for the transport of radioactive
materials?
(A) International Commission on Radiological Protection (ICRP)
(B) Nuclear Regulatory Commission (NRC)
(C) International Atomic Energy Agency (IAEA)
(D) World Health Organization (WHO)

219. What is the role of potassium iodide in radiation emergency preparedness?
(A) Neutralize radiation (B) Enhance radiation therapy
(C) Prevent thyroid cancer (D) Decontaminate affected areas

220. How does diffusion-weighted imaging contribute to the characterization of tissues in magnetic
resonance imaging (MRI)?
(A) Measure blood flow velocity
(B) Evaluate tissue perfusion
(C) Assess tissue microstructure and cellularity
(D) Enhance soft tissue contrast
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221. What is the primary effect of radiation on DNA within a cell?
(A) Cell membrane disruption (B) Protein denaturation
(C) DNA ionization (D) Mitochondrial degradation

222. In mammography, what is the purpose of using a compression device?
(A) Enhance patient comfort (B) Reduce scattered radiation
(C) Improve spatial resolution (D) Minimize contrast

223. What is the primary advantage of intensity-modulated proton therapy (IMPT) over traditional
proton therapy?
(A) Faster treatment time (B) Higher dose uniformity
(C) Improved image contrast (D) Reduced side effects

224. Which radiographic view is commonly used to evaluate the lumbar spine for disc herniations?
(A) Anteroposterior (AP) view (B) Lateral view
(C) Oblique view (D) Flexion-extension view

225. What is the primary function of a gamma camera in nuclear medicine imaging?
(A) Measure radiation dose (B) Produce X-rays
(C) Detect gamma rays (D) Generate positrons

226. In hybrid imaging, what combination provides anatomical and functional information?
(A) CT and SPECT (B) MRI and PET
(C) X-ray and PET (D) Ultrasound and gamma camera

227. What imaging modality is commonly used to evaluate blood flow in the cardiovascular system?
(A) Fluoroscopy (B) Magnetic resonance imaging (MRI)
(C) Positron emission tomography (PET) (D) Doppler ultrasound

228. Which organization is responsible for setting international standards in medical device safety,
including radiological equipment?
(A) International Commission on Radiological Protection (ICRP)
(B) Food and Drug Administration (FDA)
(C) European Medicines Agency (EMA)
(D) International Electrotechnical Commission (IEC)

229. Which radiation detector is commonly used in radiation therapy for in vivo dosimetry?
(A) Geiger-Muller counter (B) Scintillation detector
(C) Ionization chamber (D) Photodiode

230. What is the purpose of a TLD (thermoluminescent dosimeter) in radiation monitoring?
(A) Real-time dose measurement (B) Continuous area monitoring
(C) Retroactive dose assessment (D) Personnel location tracking

231. What is the primary cause of indirect DNA damage by ionizing radiation?
(A) DNA ionization (B) Formation of free radicals
(C) Direct chromosomal breakage (D) Protein denaturation

232. What is the threshold dose for deterministic effects of radiation?
(A) 1 mSv (B) 10 mSv
(C) 50 mSv (D) 100 mSv
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233. What is the primary advantage of using a multileaf collimator (MLC) in radiation therapy?
(A) Faster treatment delivery (B) Increased patient comfort
(C) Improved dose conformality (D) Reduced scatter radiation

234. In gynecological brachytherapy, what is the primary source placement method?
(A) Intracavitary (B) Interstitial
(C) Intraluminal (D) Intramuscular

235. What is the primary goal of respiratory gating in radiation therapy?
(A) Improve patient comfort (B) Compensate for organ motion
(C) Enhance spatial resolution (D) Reduce treatment time

236. What is the purpose of a phantom in the quality assurance process of a radiation therapy
machine?
(A) Enhance image contrast (B) Simulate patient anatomy
(C) Monitor radiation exposure (D) Verify dose delivery accuracy

237. Which radioactive isotope is commonly used in positron emission tomography (PET) for brain
imaging?
(A) Technetium-99m (B) Fluorine-18
(C) Iodine-131 (D) Strontium-90

238. What is the purpose of calibrating a radionuclide for diagnostic imaging?
(A) Enhance image contrast (B) Ensure accurate dosage
(C) Prolong half-life (D) Minimize radiation dose

239. What factor influences the radiographic film’s speed (sensitivity)?
(A) Film thickness (B) Film base density
(C) Developer temperature (D) Fixer concentration

240. What is the most used magnetic strength in Clinical MRI?
(A) 0.1 to 3 Tesla (B) 6 to 10 Tesla
(C) 10 to 20 Tesla (D) 0.001 to 0.05 Tesla

241. What is the primary advantage of digital subtraction angiography (DSA) over conventional
angiography?
(A) Reduced patient dose (B) Improved spatial resolution
(C) Real-time imaging (D) Simultaneous multi-planar views

242. The Cooling agent used for MRI Magnet is ?
(A) Argon (B) Neon
(C) Xenon (D) Helium

243. What type of transducer is commonly used for endovaginal ultrasound imaging?
(A) Linear array (B) Curvilinear array
(C) Phased array (D) Convex array

244. What is the primary purpose of a radiological survey meter in a radiology facility?
(A) Enhance image contrast (B) Monitor background radiation levels
(C) Measure patient dose (D) Assess image quality
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245. What is the primary purpose of lead shielding in a radiographic room?
(A) Enhance image contrast (B) Protect against direct radiation
(C) Reduce patient dose (D) Minimize exposure to scattered radiation

246. What is the immediate response protocol for a radiation spill in a radiology department?
(A) Continue normal operations
(B) Evacuate the area and notify appropriate personnel
(C) Delay response for confirmation
(D) Wait for regulatory agencies to arrive

247. When ionization chambers absorb x-rays, they most likely measure the resultant?
(A) Heat. (B) Voltage.
(C) Charge. (D) Light.

248. What international standard provides guidance on the management of medical radiation
exposure?
(A) IEC 60601 (B) ISO 9001
(C) ASTM E2503 (D) ANSI/HPS N13.30

249. What is the role of a designated radiation safety officer in a medical facility?
(A) Administer first aid in radiation emergencies
(B) Oversee regulatory compliance
(C) Perform radiographic examinations
(D) Dispose of radioactive waste

250. How does virtual reality technology contribute to medical imaging education and training?
(A) Increase radiation dose awareness (B) Simulate realistic patient scenarios
(C) Accelerate image acquisition (D) Replace traditional imaging modalities

251. How does hybrid imaging, such as PET-CT, benefit oncology patients?
(A) Reduces diagnostic accuracy
(B) Provides anatomical and functional information simultaneously
(C) Increases radiation exposure
(D) Slows down the diagnostic process

252. In nuclear medicine, what is the function of a collimator in a gamma camera?
(A) Generate gamma rays
(B) Convert gamma rays into electrical signals
(C) Direct positron emissions
(D) Selectively allow only certain gamma rays to reach the detector

253. What is the primary goal of stereotactic radiosurgery in the treatment of brain tumors?
(A) Minimize treatment time
(B) Enhance patient comfort
(C) Deliver precise and high doses to targeted lesions
(D) Reduce side effects
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254. Which imaging modality is commonly used to assess blood vessel abnormalities, such as
aneurysms or stenosis?

(A) X-ray angiography (B) Computed tomography (CT)

(C) Magnetic resonance imaging (MRI) (D) Ultrasound

255. What is the primary advantage of cone-beam computed tomography (CBCT) in radiation
therapy planning?

(A) Reduced patient dose (B) Improved image contrast

(C) Real-time imaging (D) Enhanced visualization of soft tissues

256. In single-photon emission computed tomography (SPECT), what is the purpose of acquiring
multiple projection images?

(A) Increase patient comfort

(B) Enhance spatial resolution

(C) Facilitate three-dimensional reconstruction

(D) Reduce radiation exposure

257. What is the primary advantage of dual-energy X-ray absorptiometry (DEXA) in bone density

measurements?

(A) High spatial resolution

(B) Fast image acquisition

(C) Simultaneous assessment of soft tissue and bone density

(D) Reduced radiation dose

258. How does positron emission tomography (PET) contribute to cancer diagnosis?

(A) Visualizes structural abnormalities (B) Measures blood flow dynamics

(C) Detects metabolic activity (D) Assesses bone density

259. What is the primary advantage of using a solid-state detector in radiation measurements?

(A) High sensitivity (B) Real-time monitoring

(C) Energy discrimination (D) Low cost

260. What is the purpose of regular quality control checks on treatment machines in radiation
therapy?

(A) Minimize patient dose

(B) Enhance image contrast

(C) Ensure accurate and safe delivery of radiation doses

(D) Reduce treatment time

261. What is the primary advantage of using a multileaf collimator in modern radiation therapy?

(A) Minimize treatment time

(B) Enhance patient comfort

(C) Shape radiation beams to conform to tumor contours

(D) Reduce side effects
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262. What is the term for the phenomenon where a fractionated dose of radiation is more effective
than a single large dose in causing cell death?

(A) Deterministic effect (B) Bystander effect

(C) Protracted effect (D) Stochastic effect

263. What is the purpose of using a compensator in intensity-modulated radiation therapy (IMRT)?

(A) Shield healthy tissues (B) Modulate beam intensity

(C) Reduce treatment time (D) Enhance image contrast

264. In prostate brachytherapy, what is the primary source placement method?

(A) Intracavitary (B) Interstitial

(C) Intraluminal (D) Intramuscular

265. Which is least likely to be categorized as an x ray detector?

(A) Ionization chamber. (B) Scintillation detector.

(C) Photomultiplier tube. (D) Geiger muller counter.

266. What is the purpose of routine machine calibration in a linear accelerator used for radiation
therapy?

(A) Enhance patient comfort (B) Ensure stable machine performance

(C) Reduce patient dose (D) Minimize scatter radiation

267. In nuclear medicine, which radiopharmaceutical is commonly used for bone imaging?

(A) Indium 111 (B) Technetium-99m with MDP

(C) Fluorine-18 (D) Carbon-14

268. Which radiographic view is commonly used to evaluate the alignment of the spinal column?

(A) Lateral view (B) Anteroposterior view

(C) Oblique view (D) Towne’s view

269. In fluoroscopy, what is the purpose of pulsed fluoroscopy mode?

(A) Minimize patient dose (B) Provide real-time imaging

(C) Increase spatial resolution (D) Enhance image contrast

270. What term describes the degree of blackness on a radiographic film?

(A) Density (B) Contrast

(C) Spatial resolution (D) Radiopacity

271. How does Doppler ultrasound assist in assessing blood flow direction?

(A) Measures blood viscosity

(B) Analyzes tissue elasticity

(C) Detects changes in frequency caused by motion

(D) Measures acoustic impedance

272. What factor influences the signal intensity of tissues in magnetic resonance imaging (MRI)?

(A) X-ray exposure (B) Proton density

(C) Ultrasound frequency (D) Gamma ray emission
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273. What imaging modality relies on the piezoelectric effect for image generation?

(A) X-ray (B) Magnetic resonance imaging (MRI)

(C) Ultrasound (D) nuclear medicine

274. Which of the following is said to be an example of Electromagnetic Radiation?

(A) Alpha rays (B) X-rays

(C) Seismic waves (D) Neutron radiation.

275. What is the purpose of a lead-lined container for storing radioactive materials?

(A) Enhance image contrast (B) Reduce occupational radiation exposure

(C) Minimize patient dose (D) Shield against gamma radiation

276. What is the purpose of a radiation area posting in a healthcare facility?

(A) Warn against non-ionizing radiation

(B) Indicate high patient flow areas

(C) Identify areas with potential radiation exposure

(D) Provide aesthetic decoration

277. What precautions are taken during the transport of radioactive materials to prevent radiation

exposure to the public?

(A) Use of lead-lined containers (B) Segregation of isotopes

(C) Remote-controlled handling (D) High-speed transportation

278. What international organization provides guidelines for the safe use of radiation in medicine?

(A) International Commission on Radiological Protection (ICRP)

(B) Food and Drug Administration (FDA)

(C) Occupational Safety and Health Administration (OSHA)

(D) Environmental Protection Agency (EPA)

279. What is the primary purpose of a radiation emergency response plan in a healthcare facility?

(A) Reduce treatment time (B) Minimize occupational radiation exposure

(C) Provide immediate patient care (D) Ensure a coordinated and effective response

280. Which of the following materials is commonly used for shielding against gamma radiation?

(A) Aluminum (B) Lead

(C) Copper (D) Plastic

281. What is the primary concern in the disposal of radioactive iodine-131 waste?

(A) Long half-life (B) High energy emission

(C) Environmental impact (D) Biological half-life

282. What safety features are commonly employed in the packaging of radioactive materials during

transportation?

(A) Transparent containers (B) Shock-absorbing materials

(C) Fragile packaging (D) Reflective surfaces
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283. Which regulatory body oversees the use of medical devices in the United States?
(A) International Commission on Radiological Protection (ICRP)
(B) Food and Drug Administration (FDA)
(C) Occupational Safety and Health Administration (OSHA)
(D) World Health Organization (WHO)

284. What is the primary consideration in managing a radiation exposure incident involving multiple
casualties?
(A) Immediate treatment prioritization
(B) Prompt evacuation
(C) Utilization of personal protective equipment
(D) Timely notification of regulatory authorities

285. How does tomosynthesis differ from traditional mammography?
(A) Uses higher radiation doses (B) Provides three-dimensional imaging
(C) Has slower image acquisition (D) Requires contrast agents

286. What is the purpose of a daily machine warm-up in a linear accelerator?
(A) Reduce treatment time (B) Ensure stable machine performance
(C) Enhance patient comfort (D) Minimize scattered radiation

287. What is the primary factor affecting the quality of an X-ray beam in radiography?
(A) Tube current (B) Tube voltage
(C) Filtration (D) Collimation

288. What is the role of a scintillation crystal in gamma camera imaging?
(A) Convert gamma rays into electrical signals
(B) Direct positron emissions
(C) Generate X-ray photons
(D) Enhance spatial resolution

289. How does intensity-modulated radiation therapy (IMRT) differ from conformal radiation
therapy (CRT)?
(A) IMRT uses higher energy beams (B) IMRT delivers uniform radiation dose
(C) IMRT modulates beam intensity (D) IMRT has shorter treatment sessions

290. Ultrasonography is an example of what type of radiation?
(A) Electromagnetic. (B) Particle.
(C) Acoustic. (D) Gravitational.

291. What is the purpose of a contrast agent in angiography?
(A) Enhance patient comfort (B) Improve image quality
(C) Visualize blood vessels (D) Minimize radiation dose

292. What is the primary role of a gamma camera in nuclear medicine?
(A) Measure blood flow velocity
(B) Detect metabolic activity
(C) Facilitate three-dimensional reconstruction
(D) Produce X-ray images
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293. How does computed tomography (CT) differ from conventional X-ray imaging?
(A) CT uses lower radiation doses (B) CT provides real-time imaging
(C) CT produces cross-sectional images (D) CT has lower spatial resolution

294. What property of tissues does T2-weighted MRI primarily emphasize?
(A) Fat content (B) Water content
(C) Bone density (D) Oxygen saturation

295. In ultrasound imaging, what does the term “echogenic” refer to?
(A) Tissue elasticity (B) Sound wave frequency
(C) Ability to reflect sound waves (D) Attenuation coefficient

296. Which radiation protection principle states that the exposure to ionizing radiation should be
justified based on benefits and risks?
(A) ALARA principle (B) Time, distance, and shielding
(C) Optimization principle (D) Asymmetry principle

297. What is the primary concern in the disposal of high-level radioactive waste from nuclear power
plants?
(A) Short half-life (B) Heat generation
(C) Low energy emission (D) Biodegradability

298. In the transportation of radioactive materials, what is the purpose of labeling the packages
with a radioactivity symbol?
(A) Aesthetic purposes (B) Warn emergency responders
(C) Deter theft (D) Comply with regulations

299. What is the purpose of routine checks on the alignment of treatment beams in radiation therapy?
(A) Reduce patient dose
(B) Ensure accurate delivery of radiation to the target
(C) Enhance patient comfort
(D) Minimize scattered radiation

300. What factor determines the depth of penetration of a beam in tissue during X-ray interactions?
(A) Beam energy (B) Source-to-skin distance
(C) Collimation (D) Filtration
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